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QUESTION 1

The NSX Control Plane is responsible for which two functions? (Choose two.)
A. receive and validate configuration from NSX Policy

B. host API services

C. propagate topology information

D. push stateless configurations to forwarding engines

E. maintain packet-level statistics

Correct Answer: CD

QUESTION 2

A user is assigned these two roles in NSX Manager:

LB Admin Network Engineer What privileges does this user have in the system?

A. read permissions on all networking services and full access permissions on load balancing features

B. full access permissions on all networking services and full access permissions on load balancing features
C. full access permissions on all networking services and read permissions on load balancing features

D. read permissions on all networking services and read permissions on load balancing features

Correct Answer: B

QUESTION 3

Which discovery protocol is supported for hypervisor transport nodes?
A. Adobe Real-time CDP

B. Neighbor Discovery Protocol

C. Cisco Discovery Protocol

D. Link Layer Discovery Protocol

Correct Answer: D

QUESTION 4
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An NSX administrator noticed that the nsxcli command times out after 600 secs of idle time.
Which CLI command disables the nsxcli time out value on NSX Manager?

A. set cli-timeout O

B. set cli-timeout enabled

C. set cli-timeout disabled

D. set cli-timeout 1

Correct Answer: A

https://vdc-download.vmware.com/vmwb-repository/dcr-public/cc42e3cl-eb34-4567-a916147e79798957/8264605c-
a5el-49a8-b603-cc78621eeeab/cli.html#set%20cli-timeout%20%3Ctimeout%

3E

https://www.virten.net/2020/06/quick-tip-remove-nsx-t-ssh-and-http-session-timeout/

QUESTION 5

Which tool injects packets and provides various observation points along the packet\\'s path between two NSX-T
managed objects?

A. SPAN mirrors

B. Port Mirroring

C. Traceflow

D. IPFIX

Correct Answer: C

Reference: https://www.google.com/url?sa=tandrct=jandq=andesrc=sandsource=webandcd=7andved=2ahUKEwjw0
duct_nmAhUJ1BoKHVrgACcQFAGegQIBxACandurl=ftp%3A%2F%2Fftp.inwinstack.com%?2 FOther%2FAINSX-

T%2FVMware% 2FVMWare%2520NSX-T%2FDocuments%
2Fnsxt_21_admin.pdfandusg=A0OvVaw2DqgQfqPkhzWQfiJP2SgNbO
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